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fﬁ N: ingen 3D-linearisering (OL) i fil (F) eller PS-startup (S)
P/ oo =00
=0 00 fq g by Ly Ay b* Crapa  Nang Ya 24 Xa Yo Ya/88.59
@ D Ry 1.0 0.0 0.0 50.5 76.92 64.55 100.42 40 6. 18.84 71 0.64 0.33 74
§ Ya 1.0 1.0 0.0 92.66 0.69 90.7! 93.08 103 68.21 82.19 12.27 0.4193 0.5053 0.9p78
nQ Gy 0.0 1.0 0.0 83.63 -82.75 79.9 115.04 136 31.68 63.36 10.56 03 .6 0.7152
;@ =3 Cy 0.0 1.0 1.0 86.88 -46.16 -13.55 12 7.67 69.76 94.74 0.2247 0.3288 0.774
.o 'Yn=0.0 By 0. 0.0 1.0 30.39 76.06 -103.59 12852 306 15.99 .4 84.21 0.15 .06 0.0922
3 g_ L*. =0.01 Mg 1. 0.0 1. 57.3 94.35 -58.41 11097 328 5252 25.23 85.89 0.3209 0.1542 0.2p48
o ) g = Y Ny O 0.0 0.1 0.01 0.0 0.0 001 0 0.0 0.0 0.0 0.3127  0.329 0.0
= W 1. 1.0 1. 95.41 0.0 0.0 001 0 84.2 88.59 96.46 0.3127  0.329 1.0
3= N 0. 0.0 0.1 0.01 0.0 0.0 001 0 0 0.0 0.0 0.3127  0.329 0.0
a Q W 1. 1.0 1. 95.41 0.0 0.0 001 0 84.2 88.59 96.46 03127 0329 10
[Sh=3
= *=
=5  |00a*=00a
IT= . . - .
=X [00a fag  Gad  bag  Lag  @ag  Dag  Clapad MavadXag Yaa Zaa Xag  Yag  Yad8859
T Ry 1. 0.0 0.1 50.5 76.92 64.55 100.42 40 36.54 18.84 171 0.64 0.33 0.2127
= 3 Y 1. 1.0 0.1 9266 -20.69  90.75 9308 103 68.21 82.19 1227 0.4193  0.5053 0.9p78
® Gy 0. 1.0 0.1 83.63 -8275 79.9 11504 136 31.68 63.36 10.56 0.3 0.6 0.7152
Cy O 1.0 1. 86.88 -46.16 -13.5 48. 196 47.67 69.76 94.74 0.2247  0.3288 0.774
b 'Yn=0.0 By 0. 0.0 1. 30.39 76.06 -103.59 12852 306 15.99 .4 84.21 .15 .06 0.0422
=g L*,=0.01 My L 0.0 1. 57.3 94.35 -58.4: 110.9' 328 5252 25.23 85.89 0.3209 0.1542  0.2p48
O d= Y Ny 0. 0.0 0. 01 0.0 0.0 001 0 0.0 0.0 0.0 0.3127  0.329 0.0
1z g Wy L 1.0 1 95.41 0.0 0.0 001 0 84.2 88.59 96.46 0.3127 329 10
o= NGy 0. 0.0 0. 0.01 0.0 0.0 0.0: 0 .0 0.0 0.0 0.3127  0.329 0.0
g ; Wiy 1. 1.0 1 95.41 0.0 0.0 001 0 84.2 88.59 96.46 03127 0329 10
ag
@3 |00bL*=00b
>
22 |oob hd  Ohd Dog Lha g D, Xod  Yoa  Yod88.59
9 [*<} Ry 1.0 0.0 0.0 50.5 76.92 L) 1.71(=1.71+0.0) 64 0.33 2127
Q Yy 1.0 1.0 0.0 9266  -20.69 . 0.4193  0.5053 .9278
=3 Gy 00 1.0 0.0 8363 -82.75 9. .3 06 7152
.5' z Cy 0.0 1.0 1.0 86.88 -46.16 .. 0.2247 0.3288 .7874
= 00 'Yn =0.0 By 0.0 0.0 1.0 30.39 76.06 -103.59 12852 306 15.99(=15.99+0.0) . X 15 0.06 0722
=O L*, =0.0 My 10 0.0 1.0 7.3 94.35 -58.41 10.97 328 52.52(=52.52+0.0) 85.89(=85.89+0.0) .. 0.1542 .2848
5 I d= Y Ny 0.0 0.0 0.0 0.01 0.0 0.0 0.01 0 0| 0.0(=0.0+0.( 0.0(=0.0+0.0) 0.3118 03281  O.f
o Wy, 10 1.0 1.0 95.41 0.0 0.0 0.01 0 88.59(=88.59+0.0) 96.4¢ 6.46+0.0) 0.3127  0.329 140
o NG; 0.0 0.0 0.0 01 0.0 0.0 0.01 0 X .0+0.0) 0.0(=0.0+0.0) 0.3118 03281 0.
’E < Wy 1.0 1.0 1.0 95.41 0.0 0.0 0.01 0 88.59(=88.59+0.0) 96.4¢ 6.46+0.0) 0.3127 0.329 10
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input: rgb/cmy0/000n/w set...
output:—>rgb 44 setrgbcolor \E
T




